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Sketch the graph of each line.

29) x-intercept = 1, y-intercept = -1
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Find the slope of each line.
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Write the slope-intercept form of the equation of each line.
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56) p- ((m +q)2— 9); use m=10, p=-8,and g = -6
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Find the midpoint of the line segment with the given endpoints.
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Reviewing Quadratic Equations
Day 1: Factor each completely.

1) n* +10n+ 16
3) 3k% = 23k + 30
5) 9x% - 64
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Solve each equation by factoring.
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10) p* +20=-9p

12) n* +12n+32=0

14) m>-2m-35=0

16) Sx* -4x=0

18) x* =25
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Day 2: Do questions @ - 19 using the quadratic formula.

20) The quadratic formula is:
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where ax” +bx+¢=0
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